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(3 hours)

N.B: 1) Question number 1 is compulsory
2) Solve any three questions out of the remaining five questions
3) In all four questions to be attempted,
4) Figures to the right indicate full marks

B g

(b) Compare FIR and IIR filter.
(¢) What is multirate signal processing? Discu
Processing,

(d) x(n) 46‘(n) +30(n—1)+ 26(153-

4

3'7‘ S
Q2) (a) Compute DFT ofa sequengcqc nJ’

computational compleﬁy-af;t") h-"l’

1-‘ -
«,\Q

Q¥ 1,.\}{;*"’
S Mg
Hy e/® )z g of »
( }S{; F&JU‘QQ‘\’- . u"( A [ Vi %3
E ,3;"2"\. ¢ “"" ‘v b‘ & . B AR | \ "'_'
R R { S he e '. oy l'.l.,.- X -‘_\,
%3 @ Dariw‘rev ““%FT?@ il SN g9 (10
: 2 i AL )
(o) ‘ W@EWQWMM )g lﬁg?impulse invariant technique by (10)
ATV D U T T VN O P g AT 470
- takide T 156 15 sitisty Tollowing spedifications
AT Q ’n"ﬁ %t S S P = i 3 ! B s A
-_‘,‘:\ &@,\Q}. gV (S Ny OS] “'\?3?,,}? Sl iR
;3! DR Q'D@q,‘?— @ HUANEESE 0<0<03=n
.ﬁ‘\? o
0.75n<w<m
<:1 ¢ ﬂﬁme causal system is given by (10)
bs Q‘ o 1
.:» SIS
-' ?:’”%‘g"?’ﬂ ﬁ;f‘";@‘:\_‘*’:-gﬁ:ﬁ@ﬁﬁ(z) 1-0.22-'~0,15z-1

Eé.grga-\];‘and Direct form-I1 realization structure.

’.and parallel realization i

D l. response of the system.

Turn Over
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Please check whether you have got the rightqu

1) Q. No. 1 is compulsory.

N.B.

Explain the Need & Effect of scaling
b Find resistance Rn for nM

a

10
10

effect of substrate potential

drry look-ahead adder Explain how speed can 10

a.b+c.de

-the Jogical function as given above
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<Layout strategy for the GATE.
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the terms

b) Derivative controller
has a range

Q.1) Explain in brief
a) Smart transmitter
c) Butterfly valve
d) Data logger
b) Explain

Q3)

2) Attempt any three questions from remaining five questions.
Q2)
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Q2.

Q3.

Q4.

Qs,

Serry _E

Corfaltd St mmlast i Q.P. Code: 27200
—T eate™) Reroong
[03 Hour| [Total Marks: 80]
N.B.
i) Question No.1 is compulsory.
ii) Attempt any three from the remaining questions.
Q1. Attempt the following:

a) What are the performance parameters of computer network?
b) List the features of WLAN.

¢) Explain the concept of connectionless and Connection oriented protocol with

example.
d) How MPLS is different from traditional routing

a) Compare between bridge and router.
b) Draw and explain field of IPv4 datagram.
¢) Derive the expression of efficiency of ALOHA.

a) Different between FDM and TDM.
b) Explain in detail the physical media used for computer communication.
¢) Classify multiple-access protocols and explain the CSMA/CD

a) Classify unicast routing protocol and explain the working principle of RIP.

b) How link state routing is advantageous than distance vector routing,
¢) Discuss the working Principle of HFC

a) What do you mean by socket? Explain Network Socket Programming.
b) How UDP is different from TCP for data transmission?
c) What is the role of SMTP in application layer?

Q6 .Write a short notes on:

a) TCP/IP Overview
b) Network topologies X
¢) Congestion Control
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